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Calorfmeter for IL

Cut3/correctlons currently used

* Eh>0.6 Eypp
* 0.5 Ebeam < Etotal <1lo5 Ebeam

e Cerenkov cut for CERN runs with
combined e- /n beam

e @ first layer:
Xz — (X'Xmean/ Gx)z + (y'ymean/ Gy)z <20



Motivation of :

Y2 cut
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preshowering is shifting the longitudinal shower
profile, cuts at the first layer likely to reduce this a bit

(though only cutting away small percentage of data)

X2 — (X'Xmean/ Gx)2 + (y'ymean/ Gy)z <20
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Calorimeter for IL

CERN: E,,.=20GeV

function: ¢ * t“ * exp(- p * t)
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layers weighted by tungsten thickness

*MC prediction smaller than data before shower max
and higher after shower max

Jlayer thickness 1-10:11-20:21-30 weighted by 1:2:3
edata well described by function



CAL{e@ DESY:E,_._=6GeV

energy weighted hits / event [GeV]

Calorimeter for ILC
data

1.4 = ——— MC
12 function: ¢ * t“ * exp(- B * 1)
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layers weighted by tungsten thickness * data

B —— MC

function: ¢ * t“ * exp(- B * 1)

data in the downstream
layers are well described
though there are missing
layers

energy weighted hits / event [GeV]

0.1

1 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1
0 10 20 30
layers weighted by tungsten thickness

1 | 1 1 1 1 1 1 1 1
40 50 60




CALI(eD

Calorimeter for IL

selected runs
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layers weighted by tungsten thickness

e shower maximum increasing with increasing beam energy
e integral increasing due to increasing beam energy
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CERN and DESY data are well comparable
=> Use them in one plot for the subsequent analysis
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rimeter for IL

shower maximum

CERN runs at 30GeV

DESY 1
wo| with angle
o CERN runs 13
14 CERN runs at 0,20,30,45 degree
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S

e shower maximum increases with In(Ebeam)
o for the angle shower max is proportional to increased
distance in calo



esuinate ol energy I
missing layers in DESY
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estimate from integral of the changes in the

fitted parametrization over linearity plot of D.

the missing layers Ward if considering
these estimates
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Not a good prediction, still many questions:

 How exact is the beam energy?

* What does MC predict?

« How much energy is measured in the HCAL?

* |s there any inherent problem with the prediction?
 What happens at different angles?



conclusion

e longitudinal shower profile can be nicely fitted

 conclusions about the shower max and the energy
In not-instrumented layers at DESY runs can be
drawn

 there needs to be more thought put into the
leakage energy though



